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ras 800,000
< 400,000
e 400,000
01 A& HI 1,598,000 0 1,598,000
Ogsdd X4 Jla & AAE 1,598,000
s 799,000
S 399,500
s 399,500
03 Al 2 THHI 2,000 0 2,000
OXNHsdd =4 AIZ&=20UbI 2,000
s 1,000
< 500
s 500
Eyd 24 (ZE=2)(HE) 600,000 0 600,000
= 390,000
e 210,000
401 Al HIZ 201 8] 600,000 0 600,000
< 390,000
e 210,000
01 A& HI 584,000 0 584,000
O2dEETZ X4 (M8 584,000
< 379,600
i 204,400
02 Zeltl 14,000 0 14,000
OLEZZ =4 Z2lbl(2.33%) (X&) 14,000
< 9,100




AN AHE =X
HE: =X - EZAL
el MEBUANM M 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 4,900
03 Al 2 THHI 2,000 0 2,000
OdEx2 =& AMASUHI(0.33%) (&) 2,000
< 1,300
[ia 700
2 F2AIHRD| 853,105 748,921 104,184
=EZJ 3 344,904 541,620 A 196,716
101 124 dl 86,588 84,168 2,420
4 JI2ZtHZ2XREES 86,588 84,168 2,420
O=EZ 33 ALl 22 2
68,7203 = 798 » 180 86,588
201 L2l 4,000 4,000 0
01 At 22l 2,000 2,000 0
O=EZ3s3 2IES 2,000
02 =24l 2,000 2,000 0
O=E3&ds &H |X2cl 2,000
202 Odl 5,616 4,752 864
01 = LH 4 Hi 5,616 4,752 864
O=E3AsAY =& 5,616
203 YR =2t 700 700 0
03 A MFAH S =AY 700 700 0
O2EIZ3s AHFA 700
206 M= Hl 8,000 8,000 0
01 =8l 8,000 8,000 0
OOtMBHEX, ZER M=HM,bHE S) 8,000
401 A& HIZ 201 8] 240,000 440,000 A 200,000
01 A& HI 240,000 440,000 A 200,000
OZES A (25 AM) 200,000
Oo=n=8 AKX |X 22l 40,000
tz = 2el 200,000 200,000 0
402 BIZEXHZ 01 & 200,000 0 200,000
03 212t & AFH HI 200,000 0 200,000
Oz A SA(SIHA ) 200,000
2% I ZXze 8,201 7,301 900
201 LBt 7,301 7,301 0
01 At 22l 6,301 6,301 0
OAUR AKX RS
12,008,000 * 2.5/100 301
Oozelxe gxz 500,000& * 63l 3,000
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o
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EURLY

400,000
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EURLY

400,000

200,000
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z
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A ANASUHI (HEH)
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398,000
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199,000
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2,000
2,000

1,000
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398,000
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20,832
10,416

20,295
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SN MESXD
M =X 2B AY
el TAE EA CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 3,125
s 7,291
101 @144 dl 18,832 18,295 537
= 9,416
= 2,825
s 6,591
04 JIZHHZ22XEE S 18,832 18,295 537
OZA=sK2eld o2y 18,832
= 9,416
< 2,825
s 6,591
201 et 2,000 2,000 0
= 1,000
< 300
[ia 700
01 At 22l 2,000 2,000 0
OZA=X2Cd 223 2,000
= 1,000
< 300
e 700
LictZ2 R3ssd & 24X 22 5,000 5,000 0
< 1,500
s 3,500
101 14 Hl 3,500 3,500 0
< 1,050
s 2,450
04 JIZtHZ22XEES 3,500 3,500 0
Of23st ATHX 2e| o2 3,500
< 1,050
[ia 2,450
201 Let2d] 1,500 1,500 0
< 450
[ia 1,050
01 At 22l 1,500 1,500 0
Of=s 23 28 & 2Zel&3 7< 1,500
< 450
s 1,050
ERE N ! 520,000 140,000 380,000
TZ s+ 2H0IA 20,000 20,000 0
401 AIEHIZ 28I 20,000 20,000 0
01 A& HI 20,000 20,000 0
Ox&d=+= 25014 20,000
Yot HHd= x4 500,000 0 500,000
401 Al HI & 28I 500,000 0 500,000




AN AHE =X
HE: =X - EZAL
thelr ZEAY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 500,000 0 500,000
O4h BiE = X 4 500,000
S22 I etel 3,038,751 2,864,869 173,882
= 25,500
< 202,650
e 2,810,601
MBS AAE 22l 3,038,751 2,864,869 173,882
= 25,500
< 202,650
e 2,810,601
d24 g2 22 1,084,312 1,229,921 A 145,609
101 @124 dl 528,116 462,025 66,091
04 DIt Z2XEES 528,116 462,025 66,091
OF2CX F4 & 22 2
68,7203 * 229¥ = 300 453,552
C4liEg = 453,552,000& * 16.44% 74,564
201 Let24d] 327,796 312,496 15,300
01 At 22l 124,480 109,080 15,400
OZEANEL ARES & 28235 7¢
300,000 * 123 3,600
O FAHI EEE MH
1,200& = 10,0005 12,000
OFdE =93 337 A& 25,000
ORo&e|AlAY KX 2l
520,000& = 12& 6,240
OXdts =23 A= 120,000& * 123l 1,440
OY=s =23 AME 300,000& = 43| 1,200
O2=Hel =23 A= 400,000& * 123 4,800
O2+=HMel&d FstX =H&E 300,000& = 22 600
OFak—FE~t—1:] 1,300,000& = 123/ 15,600
OF+F ZH 2 4EHI(20HL)
300,000& = 12& 3,600
Ogstztel 22 L 400,000 = 12& 4,800
O&EJletd 2tel tHethl 600,000& = 12& 7,200
O2=XelAld 22| &l
1,300,000& * 128 15,600
O XNEsx=+2 600,000 * 123 7,200
O&d=Z 22| H&ddl 350,000 » 20H = 12&8 8,400
Os2CXl dld eEl 350,000 * 123 4,200
Ot E=I| & 250,000& = 123 3,000
02 =224l 203,316 203,416 A 100
OFLCX &Iz 10,000,000 * 12& 120,000
o240 B&gx 250
O=2¢3 #& 1,500,000 = 23l 3,000




AN AHE =X
M A2 2t
CHelr MEBRYANM 2B CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ooy, Tv, YU AS I x5
1,300,000& * 12& 15,600
Oogst2tel Xt &3l 50,000& * 23| 100
OAgotd &3l 48,000& * 23| 96
OANEZHEIFXHI(AIE, THEESEHRE, =D,
529, #2H, 25U S)
1,500,000 * 12& 18,000
OF LR A&ERAH 30,000
O=EH XNSIHA 90,000& * 3CH 270
O==Ed KX 700,000& = 123 8,400
O=EY BEE 1,000,000& * 2CH 2,000
O&JIXsx EEE 800
O&EIIX KX 400,000& = 12& 4,800
206 M= Hl 11,000 21,000 A 10,000
01 =4l 11,000 21,000 A 10,000
OredRIs M7 10,000
O2a=XMelAld 23l 1,000
301 LEHZ 30,000 0 30,000
12IJEEd=s 30,000 0 30,000
OudAEAEH X2 30,000
305 a2 s 2,400 2,400 0
01 tiaf=S 2,400 2,400 0
OFLAE 0122 A4FMAD L Ha 0|83 o
B BEA3 200,000& = 12& 2,400
401 A& HIZ 2018 165,000 430,000 A 265,000
01 A& HI 165,000 430,000 A 265,000
OF28 2a=Held B2 (2x 2 At) 50,000
OF2HI == ZHEH 100,000
OFYCX 85 LED WA & =H 4X 15,000
405 TtHabF S| 20,000 2,000 18,000
01 AL EFH S 20,000 2,000 18,000
OU=ss 2u(=2J1H)
20,000,000 = 1CH 20,000
d24 AHsady 2l 15,516 15,408 108
202 o4dl 15,516 15,408 108
01 = LH o4 1l 15,516 15,408 108
Od=4 Hasesd el 13,068
OAlg 22l gixorz 2,448
S MEjs 29 86,311 71,470 14,841
101 @144 Hl 48,011 46,670 1,341
04 JIZHHZ22XEE S 48,011 46,670 1,341




2N
X ZH -
L= B

el

&g = X ot
sZHi=d2el
GAHESAANL 2H 2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEE S =&t DA 92y
68,720& « 2% x 300 41,232
(@I E=R=:N=] 41,232,000 * 16.44% 6,779
201 et 9| 4,800 4,800 0
01 AP 2t 2] H| 4,800 4,800 0
OFE A MEfm & F2ZHIHAIE 223
400,000& = 12€ 4,800
206 M = dl 20,000 20,000 0
01 X2 b 20,000 20,000 0
OMEIss2 HE ME 2,000,000& = 10&€ 20,000
405 XHo&HF S HI 13,500 0 13,500
01 XML 2 FF S| 13,500 0 13,500
OdAa &2 200,000 = 10CH 2,000
ol & 1,000,000& * 1CH 1,000
OAMNEE PC 1,000,000& = 1CH 1,000
OMEZ &BI|IH 100,000& = 5CH 500
OMEE Hol= 500,000 = 10CH 5,000
OM&EEZ 9Kt 200,000 = 20CH 4,000
MEEFESA2 2 106,000 6,000 100,000
201 LBt | 6,000 6,000 0
01 AP 22| d| 6,000 6,000 0
OUE S3s22 2223 500,000& * 12& 6,000
401 Al HI L E0HHI 100,000 0 100,000
01 A& H| 100,000 0 100,000
O 23Isd2 SHA 2l2ad 25,000
OW Zz2 ) &A% 25,000
OVRUHESHHE A 25,000
OAF2 Al2dI0I&E & X 25,000
st2HEgs 29 5,000 12,012 NT,012
206 M = dl 5,000 6,000 A 1,000
01 X2 H| 5,000 6,000 A 1,000
Ost=sHE2 HEMES 500,000& = 10& 5,000
A4 MElsd &9 245,863 310,514 ANB4,651
101 e1214| 60,363 245,014 A 184,651
04 JI2ZtHIZ22XNEES 60,363 245,014 A 184,651
OMEIZ® MZE &g o=y
68,720 * 4% x 190Y 52,228
O4HEBEE =S AIE=EE=2
49,479,000¥ * 16.44% 8,135
201 et | 15,500 15,500 0




SN MESXD
M S22
CHelr MEBRYANM 2B CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| H| 15,500 15,500 0
OMEIZ 22 23 500,000 = 10& 5,000
OHIEQLANMZALE(HXEY) 24 10,000
OHIELLI AN ZAIAE =2 A AHH| 500
206 M = dl 20,000 50,000 A 30,000
01 X2 bl 20,000 50,000 A 30,000
Or&d RIIsXHM RY(HS,LdMAS) 20,000
401 Al HI L 204 HI 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OMEZ2 X2 (55 UL £=2) 150,000
A2 528 ££0/F 29 108,980 10,800 98,180
201 LBt ]| 50,000 10,800 39,200
01 AP 22| H| 50,000 10,800 39,200
O=zx9 % 2esE Y 50,000
401 Al HI L £ 0HHI 25,000 0 25,000
01 Al& B 25,000 0 25,000
O=x=tdts HLa & 2,000,000& = 10CH 20,000
O=dla &8 AX 5,000
405 XHAFFEI S HI 33,980 0 33,980
01 XAt 2 E F S| 33,980 0 33,980
O=sgs TV 400,000& = 10CH 4,000
Ox=e8s HWaED 500,000 = 11CH 5,500
O=sgs A3 60,000& * 11CH 660
O=gls 34| 120,000 * 150H 1,800
O=8s 8XEX 120,000 = 11CH 1,320
O=sgls MIIgE 200,000 = 1104 2,200
O=dl4a HSII 600,000 = 1CH 600
O=sgs Mg 150,000& = 10CH 1,500
O=xtets TV Z& 450,000€ = 10CH 4,500
O=xstts AJ| AZXD| 200,000& * 1004 2,000
O=&s I3y Hols 330,000 = 30CH 9,900
O EH O & =5BHE 2 1,200 29,120 A 27,920
201 Yer2 | 1,200 2,400 A1,200
01 AP 22| H| 1,200 2,400 A 1,200
ODIdEHIDII g & 2HEH 22 23
100,000 * 12& 1,200
SHFNT 29 34,569 29,624 4,945
101 @121 H| 33,609 27,224 6,385
04 JI2ZtHIZ22 NEES 33,609 27,224 6,385




A M=
M S22
MREAAL 2B CER-ED
2 S 4
DA - BB - S (3H) - HEAY Ol At o %E& HRE2
SEEENEEEREE
68,720& « 2¥H x 210 28,863
(@I E=R=:N=] 28,863,000 * 16.44% 4,746
201 et 9| 960 2,400 A 1,440
01 AP 2t 2] H| 960 2,400 A 1,440
OLAEJAZ 2223 80,0008 = 12&€ 960
=l e &4 51,000 50,000 1,000
= 25,500
& 7,650
= 17,850
307 212t0| & 51,000 50,000 1,000
= 25,500
o= 7,650
= 17,850
05 QI2tE 2 51,000 50,000 1,000
O=odl&Il QIR ES 51,000
= 25,500
& 7,650
= 17,850
M SACT] HAFAIS 1,000,000 1,000,000 0
401 AlEHIZ 2 0HY| 1,000,000 1,000,000 0
01 Al&H| 1,000,000 998,000 2,000
Ootels ekt x| H A3 1,000,000
S0l HE!d 24 (M8 300,000 0 300,000
= 195,000
= 105,000
401 AlEH|IZL 2 0HY| 300,000 0 300,000
= 195,000
= 105,000
01 Al& B 300,000 0 300,000
S0l AEg’ 24 (H 300,000
= 195,000
= 105,000
AT BE& 22 321,312 31,071 290,241
AXEEZ 321,312 31,071 290, 241
EX0E 22| 9,936 10,260 N 324
202 044l 9,936 10,260 N 324
01 2L Y| 9,936 10,260 N 324
OMXEEE I RF&X 9,936
MIEEX HEHEF 311,376 20,811 290,565
401 Al HI L 204 HI 311,376 20,811 290,565
01 Al&H| 305,000 20,811 284,189
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